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SN s
HH: gEe AR (RYH)
chelr D123l
SA BB O () - NRAY - HES il
— S20Adl 7,000& x13H 20! 1,820
OSAI Y Xt 3,984
— LEtS ALD] 132,000 x 1+ 12& 1,584
— DEZCF A 200,000 x1CH+128 2,400
O& ==L xt 55,000& x1CH*12& 660
02 2=2Z 4l 21,849 21,849
ORER= 150,000& 12& 1,800
OJIEtEE2R3 5,190
—dIRea3 5,040
A - HOIEESE 400,000& 123 4,800
XS 4,000 3 *500 &~ +128 240
—SIMNERES 150
N2 50,000 »23| 100
et 25,000& +1CH 23] 50
OdzHl 6,849
— AR 1,300 1,74 *8Al 2++3CH*100L 5,304
— =34 1,300 x4.954 *8A|2t*30 1,545
Oxg R 2el 7,950
—A8HIS(ER) 3,450,000 = 1CH 3,450
— a2 (M2 RE) 3,450,000% = 1CH 3,450
- BER(XNY ¥ AHQELHO0 )
350,000 »3CH 1,050
OXsSXHA(stS) 30,000& *2CH 60
202 4 HI 37,700 37,700
01 = LHA YI 37,700 37,700
O21 0 bl 200,000& *13H «12& 31,200
O 22 ¢ di 50,0003 x13E 10 6,500
203 PR =&l 9,790 10,120
01 J22F PR =8| 6,270 6,600
O 6,600,000 *95% 6,270
02 FAIAMHR =X 520 520
OF A ItetH 2 =& H| 40,0002 x13H 520
04 ENSIHRFEHI 3,000 3,000
ORN2IYSF=AHI 250,000& »12& 3,000




